Multiplying 3 digits by 3 digits (I)
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Calculate the answers and find the first2 digits of your answer in the word search.
Example: 200 x 430 = 86,000. So find number 86!

200x 310 = 300x890 = 100 x 840 =
400x 530 = 500 x 850 = 600x 330 =
300x 250 = 700x110 = 200x 250 =

900 x 650 = 900 x 750 = 400x 330 =



Solution

+ EX I S YTNEWT +
N+ VNEZERETRIHT+

ETEI+ + + + + W O +
EH+ 1 F++ +EW+ +

TG+ +GY+NT+ + +

EI ++4++HTY+ + + +

NEVESYTNEYVES

I Y+ + 00X+ Y E + + +

NT+ NI+ -+ + FV + +

+ FES + + + + + O FE +

S I XTYSEVENTUS
+ FORTYTWO+ + R






